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2. The lower figure is the same as the
lower figure in the previous question.
Compared to the number of unique
arrangements of the upper figure,
that of the lower figure is ...
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1. For each figure on the right and in |
the following questions, light

particles cannot pass to the through
the partition; dark particles can.
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3. The upper figure is the same as the
upper figure in the previous question.
Compared to the number of unique
arrangements of the upper figure,
that of the lower figure is ...
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4. Compared to the total pressure in the left chamber,
that in the right chamber is ...
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5. The total pressure in the left chamber is larger than
that in the right chamber. The pressure difference
between the two chambers is called the osmotic
pressure. If the number of dark particles in each
chamber is doubled, the osmotic pressure will ...
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6. If the number of light particles in the left chamber is
doubled, the osmotic pressure will ...
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